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Use Blue/ Black Ball Pen only

Break open the seal when directed to do so by the invigilator

READ THE INSTRUCTIONS CAREFULLY BEFORE ATTEMPTING THE QUESTIONS
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Fill in your Roll No., Name, Father’s Name, Name of the Forest Circle and Answers in the Answer Sheet with
blue/black pen only.
The Question Booklet contains questions in English and Hindi.

In all there are 80 questions in the paper. Each question has 4 responses i.e. A, B, C, D and of these only one
is correct. You are to find out the correct answer e.g., if answer to the Q. No. 30 is A then enter A in the box
as: 30 All questions are compulsory.
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.
There should be no cutting or overwriting. 6//' IN IRES
Enter ‘X’ in the box for an unattempted question. YOUR succEss PARTMER
A correct Answer for each question carries 0.75 marks. There is no negative marking.
At the end of examination, return the Answer Sheet to the Invigilator.
Do not write on the Question Booklet. Use the additional page provided in the Question Booklet for rough
work.
After entering the Examination Hall a candidate will be allowed to leave the Hall after the paper is completed
and returned.
The duration of the examination is 65 minutes.
Use of calculator, cell phone or any electronic device is not allowed in the Examination Hall.
In case of any variation in English or Hindi version of question(s), English version will be taken as correct.
Use of unfair means will disqualify the candidate.
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() <= (sf) et
(4T) Srer=R (@) i
3. freAfafan vt & § ‘=fa’ &1 e Sifem w9 T
(T) it (&) =wfast
() et (@) e
4. Trofg weg w1 W@ el
(T) == (@) TTw
(&) e (&) wite vTga
5. frefafes e & 1 W IR AR w1 qEEer R
(v) w-wfan (=) <TeE-T
(dft) S-S () Srerren-afet

6. ‘TR WY W AWM W GG § BN W HA @2

(W) = e (&) spreRTe
(@) wfos F (@) dfery wfgs w @
7. ‘q’ 9uf &1 IHWRO WA HHA W el ©?
(T) @ (3) ==
() st (@) -3
. 1 =l ¥ ¥ 8 W I
(@) B SR T W R (@) # = =& SR
() T =R T SR (@) 77 F W T TR
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0. 7wt F ¥ ‘erEry W W W@ e
(W) st A aren (@) = YT awn
(W) =it R aren (1) o= dg =@men
11. What is the antonym of ‘Legal’?
(A) Unlegal (B) Illegal
(C) Inlegal (D) Dislegal
12. I prefer blue pen black pen.
(A) from (B) than
©) to (D) at
13.  They are not as intelligent as i
(A) our (B) we
©) us (D) their
14. The feminine of the noun ‘Lord’ is:
(A) Lass (B) Lad
(C) Woman (D) Lady
15. How many vowels are there in ‘Outstanding’?
(A) 4 (B) 6
© 5 (D) 3
16.  This apron has no pocket to ;
(A) put thing (B) putting things
(C) put things in (D) to be things put
17. Choose the correct one.
(A) The Ganga is the holy river. (B) The Ganga is an holy river.
(C) The Ganga is a holy river (D) A Ganga is a holy river.
18.  Choose the correct meaning of the word in italics. ‘She felt morose’.
(A) Sad : (B) Uncertain
(C) Anxious (D) Happy
19.  Choose the correct meaning of ‘Candid’.
(A) Impartial (B) Straightforward
(C) Honest (D) Just
20. You promised to come, but you didn’t turn
(A) up (B) out
° (©) in (D) at
F{//' INDIRESULT indiresult.in whatsapp - 9352018749
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21. The amount of Rs.7500 at compound interest of 4% per annum for two years is:
(A) Rs.7800 (B) Rs. 8100 /‘,
(C) Rs.8112 D) Rs. 8082 (/
©) (¥ NDIRESULTE
7500 ®. H THIfE AN H 4 Wi W W X auf F fRaw gew g
(T) 7800%. (sft) 8100%.
(dt) 8112%. (€1) 8082%.

22, If23% of ‘A’ is 46, then the value of ‘A’ is:

(A) 200 (B) 100
(C) 300 (D) 150
iz ‘v’ @ 23ufavia 46 ' oA ‘U W WA wFEm BRTM?
() 200 (&%) 100
(dt) 300 (1) 150
23.  If three angles of a quadrilateral are 100°, 98° and 92° then the fourth angle is:
(A) 82° B) 70°
(C) 110° (D) 60°
IR IS & AT FO 100°,98° R 92°%T @1 wten wor fraw BrM?
(T) 82° (&) 70°
() 110° (@) 60°
24.  The sum of the angles of a triangle is equal to:
(A) 180° (B) 360°
(C) 270° (D) 90°
e & Ho0 w1 S AW g 22
(T) 180° (sf). 360°
() 270° (1) 90°
25.  The product of -4x and 7xy polynomials is:
(A) 28xy (B) -28x%y
(C) 28xy” (D) -28xy”

-4x 9T 7xy IgURT HT TOAGA fHaa gm?
(W) 28xy _ | () -28x%y
o (%) 28xy? (1) -28xy’
(#)WoiResULTE s indiresult.in whatsapp - 9352018749
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If Sin A= 3/5then value of Cos A will be:

(A) 4/5 (B) 3/5

(C) 3/4 (D) 12

e Sin A=3/5% @ Cos A frem =mm?

(W) 4/5 &) 3/5

(<ft) 3/4 &) 12

If g = 2—: then value of x is equal to:

(A) 108 (B) 4800

(C) 2916 (D) 324
VXK _ 54

afe N BTA x 1 AR Fra B

(W) 108 (st) 4800

() 2916 (1) 324

A steel wire is in the form of a square. The same wire is bent in the form of a circle.
What will be the area of the circle if the side of square is 7T units?

(B) 4m square units

(D) m/2 square units

(A) 2m square units
(C) m square units

N\

TF T HT AR ST FIER T F R W AR g9 BT SRR e ST ¥ oa
W qT HT GG FA BN, AR a F O g w82
(T) 2nwf = () 4net wEE
(&) navt wmw (1) n/2at A=

If the least prime factor of ‘a’ is 3 and the least prime factor of ‘b’ is 7 then the least
prime factor of (a+b) is :

(A)2 (B) 3

©) 7 (D) 10

A 2 F T B T PrEEve 3 2 sk b % ged s s

TEUE 7 ® A (atb) H ANT TUMEUE FAT BRM?

(® 2 () 3
(¥) 7 () 10
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30.  Volume of a cone of radius ‘r’ is equal to:

(A) 1/3mr?h (B) 2/3nmr? /,

© mrh o i (FINDIRESULTE
v fow B v o w1 e Frefafen ® ¥ fRus st B
(W) 1/3mrch () 2/3mr?h

() nr*h (1) 4nr3

31. If BORE = ERBO, what is SPAR?
(A) RAPS (B) APSR
(C) PSAR (D) RASP

afz BORE = ERBO, @1 SPAR &1 &I?

(W) RAPS (sf) APSR
(dt) PSAR (1) RASP
32.  Find the missing number (?):
9 5 8
5 7 ?
l 3 - 5
e‘ 135 [ 140 | 160
(A) 4 B) 5
©) 3 (D) 6
ql ‘2" % WM W wH W FF aEm?
9 |5 |8
) 7 v
3 4 5
135|140 | 160
st (@) 4 (sf) 5
(%) 3 (1) 6
33.  Find the next letter in : bnednefgnhijk
(A) k B) ]
(€) m (D) n
bnednefgnhijk ® 3TTem e wFar T,
(@ k (&) ]
) m () n

d
Y
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34. A cube is painted from all sides. It is cut into 64 cubes of equal size. How many of
these smaller cubes are unpainted? .
(A) 2 B) 4 (.
o 8 ¢ #NDIRESULTE
e |t TWE | T TW A (FFF) H 64 WX Tt ¥ wET WU a1 s@H
fom @1 & fFay =M (Fg9) B2
(W) 2 (=) 4
(<) 8 )6
35.  Find the missing value (?)
49 32 32 17 | 16 9
9 7 ?
(A) 11 B) 9
<€ 7 (D) 5
‘2 % TN W HE W@ SE g
49 32 32 17 16 9
9 7 ?
(@) 11 (@) 9
(4T) 7 &) 5
36. If + means x, ~ means + and — means ~ then solve 2+3-3 =5,
(A & (B) 8
© 7 D) 6

@

D

AR +F WH Wx,+ & H W +3R-F T W= aq12+3-3 =5 ]
7T H

@ 9 () 8
(#1) 7 &) 6
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i A is 3 years older than B and 3 years younger to C, while B and D are twins. How many
years older is C than D? ;
(A) 3 (B) 6
) 2 (D) 12

T o ¥ 3 He wer B oS W ¥ 3w S @ oqer & ek @ weat @
@, € T e s B

(T 3 (=) 6
(4T) 2 @) 12
38. In a row of trees, one tree is fifth from either end of the row. How many trees are there in
the row?
(A) 11 (B) 10
<© 9 (D) 8
At wF dfFd § FE Uy IHe SH BRI ¥ UTEd TWH W ® a1 39 ufFd §
fFaa T B2
(m) 11 (s) 10
(#) 9 (1) 8
39. Solve, 3+3x3.
(A) 18 (B) 12
<y 9 (D) 6
3+3x3 1 BA H
(W) 18 (i) 12
(¥1) 9 (31) 6
40.  Find the next letter in : bcdbeebetbeg
(A) b B) ¢
(C) h D) 1
bedbeebefbeg ® STTET 31&ER wFAT BIT?
(W) b (1) ¢
(¥) h ()i
41. In human eye, image is found at:
(A) Pupil (B) Iris
(C) Cornea (D) Retina
g W W o] %1 ufafs el s 87
(TW) ot W (&) uftarfe w
() va@ "ded W () Fferea
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42.  Vegetable oils are converted to vegetable ghee by the process of hydrogenation.
Itis:
(A) addition reaction
(C) decomposition reaction

mmmmﬁaaﬁaqwﬁrsﬁﬁmmmﬁaﬁmﬁ?
(w) Heher sHfee (aft) wheemes s
(dft) sroereA sl (&) v sfafR

(B) substitution reaction
(D) oxidation reaction

43.  Ifa hydrocarbon has triple bond it is :

(A) Alkene (B) Alkyne
(D) All of the above

(C) Alkane
uﬁwmﬁﬁ—wu%a‘rs@wm%?
(T) T (s) woehTe

() Tha (&) S| F© @

44 Which of the following is liquid at room temperature?

(A) Chlorine (B) Bromine
(D) Fluorine

(C) lodine
ﬁmﬁf&aﬁﬁﬁaﬁﬂmwmmmmmﬁwwé?
(T) FArA (st) s

45.  Green plants are:

(B) Heterotrophs

(A) Autotrophs
(D) Parasites

(C) Saprophytes
= WY g # fowm A

(@) T § (s) a2

&) wasier § () wfet ®
46. Bowman’s capsule is found in:

(A) Small intestine (B) Kidney

(C) Heart (D) Brain

i gy freafafed & ¥ feed T S 22

(v) B i () T

°, (d) &= () ==

% L
Q}IDR ULTE ® indiresult.in whatsapp - 9352018749
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47.  The image formed by convex mirror is:

(A) Real, inverted and small
(C) Virtual, erect and small
I TUUT GRT a¥q T Widfes
(v) arafas, 3o 9 BRI el @
(&) emurd, den @ s g

(B) Virtual, inverted and small
(D) Virtual, erect and large .,
@ moiresuLTs

() e, et @ B BT R
() e, den g =g e @

48. Unit of electric resistance is :
(A) Ampere (B) Volt
(C) Watt (D) Ohm
oot wfaty =1 A
(W) wAiR # () dree @
() a= 2 (3) oiem 2
49.  What type of mirror is used in vehicles for rear view?
(A) Concave mirror (B) Plane mirror
(C) Convex mirror (D) None of these
A Al # U #1 gvd tEd R faw we W <l wE@m s ® 2
(W) etade <dur () wHaer gUOT
(F) Imer dor (@) T ¥ T
50.  pH ofa base is:
(A) 7 (B) <7
©) >7 (D) =
&R H1 pH Tt Bl 22
(W) 7 (s) <7
(&) >7 () =7
51.  Mr. Kuldeep Nayar is associated with:

(A) singing
(C) acting
St HAET TR W G
(@) T A R
o (@) aifrm @ R

Q’.//jl DIRESULTE
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(B) atomic research
(D) journalism

(sf) o1 oTEEH ¥ ®
(E) wEr & R

indiresult.in whatsapp - 9352018749
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52. In which district of HP, Chander tal is located : Q/a !N .D.I.B§§HRI :E.;

(A) Kinnaur (B) Shimla
(C) Lahaul & Spiti (D) Kangra
A feuee v % frw R 8 R 2
(@) fa=ir (st) fermen
(§) wmster-feafa (1) i
53. America was discovered by :
(A) Columbus (B) Vasco da Gama
(C) Alexander (D) None of these
IRFT F @S BrEy w0
(W) =Hreram (s) s =1 T
(&) faw= (@) = ¥ B T
54. Who is the present Secretary General of United Nations Organization?
(A) Barack Obama (B) Ban Ki- moon
(C) Nelson Mandela (D) None of these
TIFT U WY ® gdwH merEtae s 3o
(W) =% e (&) @ wt-gm
() Sorem ween (1) 3 ¥ #E &
35. Who is the Forest Minister of Himachal Pradesh?
(A) Sh. Virbhadra Singh (B) Sh. Kaul Singh Thakur
(C) Sh. Sudhir Sharma (D) Sh. Thakur Singh Bharmouri
feaer o & 97wt w9 2o
(T) =it s foe () st @i fig smy
(&) st gei wmwf (1) it ST fde Ry
56. ‘Operation flood’ is related to :
(A) Flood control (B) Milk production
(C) Water harvesting (D) All of these
SYEE we w1 gy frefatan 8 ¥ fred
(¥) =g frr=m () 3o Seme
°, (d) w@ woe () swiFa @
@!oun SIUCQEElsﬂARTNil indiresult.in Whatsapp = 9352018749
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57. ‘Van Mahotsav’ was started by :
(A) Dr. RV Singh (B) Dr. YS Parmar
(C) Dr. KM Munshi

(D) None of these /.-:
e saegp g (#)DiRESULTS

(@) st em ot fog (&) =1 a9 @ WA
(@) T & w g () 7 ¥ *E &
58.  Characteristic smell of Liquid Petroleum Gas is due to :
(A) Carbon dioxide (B) Chloro-flouro ethane
(C) Mercaptoethanol (D) Acetone
wWE o ¥ favw iy fewe #Ro g 2
(W) wHETSREAFARES (&) FAR-TIR 32
(T) TR () tHeH
59.  Highest cricket ground is situated at:
(A) Dharmshala (B) Narkanda
(C) Dalhousie (D) Chail
Ty e e Hem wel fud @2
(W) wrefemrem - (d) ERvET
(F) serErst () =
60.  Areawise smallest state in India is?
(A) Punjab (B) Tripura
(C) Kerala (D) None of these
g% § Ry ®1 HEO¥ B T
(W) dome @ () fgu @
(d@) @ 2 (@) T ¥ wE T
61. Which of the following is renewable resource?
(A) Petroleum (B) Coal
(C) Natural Gas (D) Forest
frafafas & ¥ a1 @ Tdwolg g9 @2
(v) aiferam () e
o) wEfw T (&) @
6;”0 INDIRESULTH indiresult.in whatsapp - 9352018749
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62. Earth Day lS Celebrated on . voun SUCCESS naa'ru:n
(A) 22 April (B) 22 May
(C) 22 September (D) 22 February
‘gerlt oo’ frw fem wAen S 22
(W) 22 o1 (&) 22 =
(&) 22 faamr (@) 22 wEd
63.  The toxic gas responsible for Bhopal gas tragedy is:
(A) Carbon monoxide (B) Nitrous oxide
(C) Sulphur isocyanide (D) Methyl isocyanide
T e A & fw wF W@ e sowe o
(¥) e AEeTERe (dt) e sFEES
() TeF REHEARS (1) fauma smeErEEAEe
64. A book titled ‘Nature watch’ is written by:
(A) Khushwant Singh (B) Satyajit Ray
(C) Salman Rushdee (D) Jaswant Singh
‘R afa’ e T fee ferdt @2
(v) GeE= fis () wearsar ¥
(dl) TemH e (€1) wEa= o'
65. . Wild life symbol of WWF is :
(A) Tiger (B) Pigeon
(C) Red Panda (D) Elephant
a9 Sead ¥ WWF &1 Wi a1 27
(@ T (df) T
(dt) @@ groer (S1) =t
66.  Ozone layer is present in:
(A) Mesosphere (B) Stratosphere
(C) Ionosphere (D) Troposphere

aﬁmwﬁmﬁ@aﬁﬁmﬁwsﬁr%?
() wErafEr

X

(1) crarEfra

=

D|R|§$l.! 1} indiresult.in whatsapp - 9352018749
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67.  State bird of Himachal Pradesh is : 6/://’ !N p]ﬁg§g!.:[§
(A) Peacock (B) Monal
(C) Sparrow (D) Jujurana
feqraer WY HT TS UER ®M ©7
(T) AR () T
(sft) fafem (S1) I

68.  The water reservoir of which dam in HP is famous for migratory birds?
(B) Bhakhra dam

(A) Kol dam

(C) Pong dam (D) None of these

FH A WY H W@ WUeR wer wfeE % faw wfes @2

(v) e st (sf) v sy

(&) din sty () SWeFa ¥ | ®E T
69.  The place where animals are protected in their natural habitat is called as:

(A) Sanctuary (B) Zoo

(D) All of these

(C) Biosphere reserve

9% WE VRl W A w I WEE W W OSfed fear s o, #

HEATl 2

(W) IR (&) fafear =X

(W) Sremvew W &= (T1) Sera |t
70.  Which type of acid is found in Ant sting?

(A) Methanoic (B) Acetic

(C) Lactic (D) Tartaric

S F <F § BN W IS T Tl e

(T) AMRSH (s) wEifew

(&) AfFes (&) erf=m
i Which one of the following is an ever green tree?

(A) Deodar (B) Darek

(C) Shisham (D) Semal

frefafad § § #19 W 98 GEEER @7
(W) 2ERR () =
% \NDIRESULTE A
U ““““““““““““““““ “indiresult.in whatsapp - 9352018749
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72.  Which one of the following is not a forest pro‘duct?

# WoiResuLTe

(A) Gum (B) Resin
(C) Kerosene (D) Plywood
frafafes & @ =9 @ a7 @R @ 2
(@) 7= () ferrem
(#) fagt =1 = (31) =mgs

73.  Which of the following trees gives best fodder ?
(A) Mulberry (Morus) (B) Beul (Grewia)
(C) Khirak (Celtis) (D) Kachnar (Bauhinia)
frafafes & ¥ #W @ 98 gad =1 W AT o2
(¥) ¥ (+) ==
(§) fas= () =R

74.  Resin is extracted from:
(A) Deodar (B) Chir
(C) Mango (D) Khair
frafafes & ¥ ®9 § g9 ¥ foRen feeen Smar 22
(¥) <o=R (d) =g

75.  What was the main aim of ‘Chipko Movement’?
(A) Human rights . (B) Political rights
(C) Agriculture Protection (D) Forest Protection

‘faueh! oTRIeM’ ® & Wed FAT o1

(W) wre SR (=) o sifasr
() =t w1 w=E () =t *1 s
76.  How many chir pine seedlings will be required for planting one hectare at 8x5m spacing?
(A) 25000 (B) 2500
(C) 250 (D) 25
TF TFX F SxSWMA T W ww w1 deriver & forg feay oot w1 sTawEsa
gii?
(T) 25000 (st) 2500
° (dT) 250 (8) 25
(/-Zlal IRESULTE indiresult.in whatsapp - 9352018749



indiresult.in whatsapp - 9352018749 .
77.  Which of the following trees yield wild fruits? Q//a !NP.'BE.sga I :E-i

(A) Kaphal (B) Rubus
(C) Fig (D) All of these
frefafan & @ #F T 9 va wEm @ 2
() wThe (&) wow
() wT=T (F1) S Teft
78.  Micro-organisms act upon the dead plant parts to produce:
(A) Mushroom (B) Gum
(C) Humus (D) Sand
g 9 5@ it @ et wowBRa e war aw
(W) Tg= (&) =
() wgmw @) W@
79.  Names of endangered plant species are published in:
(A) Green data book (B) Red data book
(C) Plant data book (D) Species data book
qauE: Wt F oy w1 oAm fhw feae ¥ vl w9
(@) & s fFam (@) @ e framE
(§) den T e (&) wefe =rr frae

80.  How much seed is required to raised 2000 plant of khair if its germination is 80% and
number of seeds per 10gm is 25?
(A) 10kg (B) 1kg
(C) 20kg ~ (D) 2kg

@tﬁzoooﬁﬁmﬁ%mﬁmmmaﬁqaﬁaﬁaﬁwsowﬁrmﬁ
3R 10 W F 25 AT e R

(@) 10 f=. (&) 1 fn.
o(¥) 20 . @) 2 .
Gj//) INDIRESULTE indiresult.in whatsapp - 9352018749
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